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T 1 Hel faeen E"in %’1 Q 1. Tick the right option. U.1- Gl fdehey g4
[31] . <118 ST 5 [A]l The colour of grass is (1) | [31].... i< foefa
) S (B (C) T=E0D)  [Red (2) White (3)Green (4) | (A i ((B) T
: Yellow (C) T (D) STetah:
(9] AT ot 3 g . ;
| S [B] Tomato is a... [§] SdTeH.... Hdi?
:g; ET?:T T Bl S A (1) Animal (2) Fruit (3) Bird (4)| (A) =¥ (B) 4:
!u‘ 2 &) BT oY Vegetable (C) g4 (D) Gi‘s.*gﬁ
C RJadh e Q2. Tick the flowing U.2- AT T fored -
- goft WR sentences. [31] Tehd Ugqurt: gl ()
i a. S{TaTS [1] A frog can fly. [ ] [&] ada= goi fasmge sifed|
faa. PIRT [2] We can touch the stars. | ( ) .
g 3. A el o agaa §egd. | ] g-3 - et < gt forat-
Ahgl, Heefl, AL, Ut Q 3. Give the meaning of T, haT,

T 4. | T aTeRT B T R
[@e;]” al TR g1 [d] T g

g 5. UTGIYich 9 I1¢ <l §s
ehfad &l AR dfcha fert .

following words.

Merry , House, Thin, meadow
Q4. Complete the spellings.
Peac_ck, Parr_t, Sparr_w,
Do_e.

Q5. Why did ant bit the
hunter ?
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(A) 81 (B) 801 (C)80001
(D)8001
[@] 568 [ ] 865 #H =g
TG<h BT
" (A) < (B) > (C) = (D)
7.2 -Tg! Teld o famg o
- [31] TR Sich hl FEH DI AT
|1000 g E-;ﬁr ] 5
[€] 678 qfﬁaél 66935l ]
7.3 - o sfeni # forat.
[31] 37Ts TR Y 4@ A=e [9]
IS AT At 9IR IR Ui
U4~ & goft srvmrsg
TUFRUS forat
[31] 40, [d1] 36
U.5-IIT A Ugg A U 7 4
8090400 cht 3¢ g 120600 &t
e @< ot 31« I9ch Uty fohdq
SUY & ?

[31] ST Qe 9T ST 8§

(A) 2 StergeR (B) 20 a1 (C) 15
3T (D) 29 31Rd

[§] Taheuxd STfaal &l Rare &
(A) Rf$ameR (B) 9w (C)
TSI (D)T—IRTLITeT

U.2 - gal /7ad ot ki
[31] 719 Ul H gl ST 81 ()
(€] 9T 3 R $d YN TR ST
g gl ()

U.3 -3 STeTak g &l Yefax Siidl oh
I forat

U.4 - & IR ST

[31] &F heyef utef & am forat|
[§] ST eheud Sfiai & a1 forat|
.5 -STeT UgNUT fohed AR & glar
g7
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N 1'1:;'? Iaai; u%?ﬁ Q 1. Select right option g 1. Gel fdchey A

Ef)] ﬁg%a ) (D) TR [A] same sound of say is [31] TasTal ol + fuerfa ?

o< (1)play (2) not (3) was (4) (A) ger:(B) &Y

(€] 31U 7 & U hel Set
g-(A) faerm (B) fasgy (C) &fer (D)
G|

!u.z. ggt, Tad g e |

f%;{]wwr&aﬁrwaﬂw

gl()

|EE)r]nTaaﬁgaﬁrnﬁaTujr§§|
g 3. faard, ARy, &4, g
h I8 ([g) e forat

U 4. gl & IR forat|
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o SIT TgT U1?

U 5. GEAT I HIgehel UR R UHTE
gsr?

this
[B] Select odd one
(1)Cow (2) Goat (3) Dog (4)
Tree
Q2. Select true and false
[A] The sky is blue. ( )
[B] we play in sky. ( )
Q 3 write the Plural.
Plant, insect, kid, bird
Q 4. Write the answer -
[1] Who was singing sweet
song in the park ?

[2] How many sons
farmer have?
Q 5. Why did the principal
praise Anmol ?
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”1-5'%%3“7”@% u 1. TE e gA

(B) 789 (A) 2 Iia (B) 4 &R (C) 24@ (D)

(C) 979 R |

(D) 977 [ g7 T AT TR &

@] 400+20+1 & (A) & (B) dTgleet (C) GehdR (D)

(A) 400201 ST .

(B) 4021 g 2. Gel, Teld I

(C) 4201 (3] Seg SffTd T & ()

(D) 421 [a] gTefY WA hT ST chgalTdl

g 2. Hel, Teid obl fawg & 2()

[31] 8x0=8. ( ) T 3. & YeTaR 9 & SeTeR Sidl &

€@ 8+0=0. ()

U 3. 13 50 don ht gt srrsy
Ty forat|

U4 15 3R 21 o 3Udda @l
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W forgt
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[37] HGJI%T;'J:IW a;rﬂaif g (1)Friday (2) Tuesday [37] fgafehant o1 o1 8
(A) SRR (B) amT (C) g (3)Sunday (4) Monday (A) &t (B) Irsfehet (C) spiaa
(D)3TTRTST Q. 2. Fill in the blanks - (D) ATt

[a] e @ el sawh g @ [1] Orange is ........ (@] afSa:ggsrfa

(A) 14 TR (B) 26 STa [2]. Brinjal is......... (A) (B) (C) (D)

- (C) 2 3rFger (D) 20 #r Q. 3. A<, @RI, G, @ HI | T 2. Gl HIFSIQ-

¥ 2. TE, o R R e | St fert ga: HIth AT

| [31] O fadmERvl &t g @ & Q 4. Complete the word SR forar g
() M_t, H_n, frafa. @a o
(@] &2 U<l @t erea e () | D9, S_n JUfTH,  §gd 9 U<
7 3. = & ey fora- Q.5 . U 3. 9IgA, 7Y, AIRA,
SEYRd, g, S, T [1]What is your hame? g Tsal hl TEhd ot
T 4, (31) B9 o A I [2] Where do you live? T 4. Ire’] R
gl 872 [3] 7 AM....cvee |

() TT 9 g fohgan! forar? E;f]ﬁ;? ..................... m{fﬁ?n

g5 A g g harR &
Ui a1y forat |

T 5. SHIH $F T<sid ?
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g 1. gl fdehey A _
(37) 56 3R 65 H &<l & gl 9o e gy
(A) 56 (B) 65 g4 U &l IId R Hehd @

(C) 2l STk & (D) ohis gt
. (9) 845 H 8 T WG A &
(A) 8 (B) 80 (C) 800 (D)
8000
U 2. = & 7eg gl Reg
QR

L 24

38. 83

69. 69

0. 10
7 3. 2000+800+20+5 aht
geiu § forat-
T 4, B ohe-
(31) 64+8 (&) 230+10
g5, J914 &l 100

S Th 75 T AT U WeT, 34
foha= = gmug AT ?

(A)TeR # (B) ¥ ¥td IHg
(C) Thue goid IHT (D) hHt =gl
U 2.98!, TTld ol g i
[h] TSeh TR WA I1ieq ()
[@] 3mT 9§ R @ A1y ()

o 3. R<h I 1 gfd Rt

[31] RR........ d gaT gl

[§] i........ d T gl

T 4. ShiF 37T g,

[31] =ftw, 311H, Aga, Jeret

[&] T, |1, ey, hisd

T 5 shed @Y S 3R Tehldhx
WU STH T 9ISy ugrdf & a1
forat|




